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9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafaa gt & SR 39 & e @9d SR faswed ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

qrfor &9 G dferd s== % e e
e 1 fR7e IugeRt =il ?

1) omuEe faeEm
2) fafdre forem
3) st fren
4) ot e

frfofag & @ 9-a1 o Req

SRR 1 B 101115 B o S e et [«

g fhuEen & dey ¥ gal

g7

1) OE-UgaM UF ScHh HAI-HIoT
75 B

2) STE-9EdM T FOMED A-QrHioTh
7&q ol

3) IE-UeaM UH qetd HHI-9mHiorh
R

4) E-YEAN His FA-GHITE TBY
& @ R

TF gemsd e § fefated § 9
H-41 faQrear 72 3E AR ® ?

1) STEn Ride
2) 3iq ot
3) U= FHUA
4) IR =R

[ Level-3/1316]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.



[4/A]

4.

frefefeg & @ *F-&@ Q9w
IR &l Il W HhHD
g9 7gf Sl & °

1) HESTEE &9 § Wi Faer
2) wigd ArITE R T
3) G AR @l e
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1) ETESD

2) feFES

3) STERHS

4) ITHD

[ Level-3/1316 ]

4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative



1.

‘TN dad e @l ao &l
diftg &t B, afch zaer ot foedr o
= & SR T 81 ot 31”7

e & R & ge ot fhEs
AR IR Il G B )

1) THo Hio Tho 2005

2) Udo Fﬁo éo 3o ?_P[o

3) I

4) e

g wd o & e TeR & aRaad
A g ?

(@) X & MR § qRacd
(b) SR & U # qReA
(c) YU Tl &l faeiia

(d) A faQarett 1 AR
7&l HT B TI BT :

1) (a), () W (c)

2) (a), (b) W (d)

3) (a),(c) W (d)

4) (a), (®), (c) W (d)
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& AT R GHRIEE J9G T 787
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1) AREROM dEq & FGeR & &
HA B
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3) PRI deM % FEer H
RIERKISINIRS

4) WM HEd F FARRK W
T ST ©
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1.

8.

9.

[5/A]

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (), (D) & (d)

3) (@, (c) & (d)

4) (@, ®), (©) & (9

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation
behaviour

impairs learning

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.



[6/A]

10.

11.

12.

[ Level

PEAT & Ak GEE Eid &

T Afcepar # STaReT W D
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(b) FfFaE e fafag i
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et ST

(@) dEAEs Fem
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1) I m oI

2) M 1 I I

3) I m I I

4 I 1 mM I

ST TR el T bl e fehel
T 1 IR & AU AW B g
ST &, O 39 & © ¢

frafafag & @ s9-@1 &9 SIS
O & ey § a2 78 ' ?

1) I gEdHs 8 2

2) ¥ TG B ©

3) I Sifad @ P T SawT® B §
4) gﬁaq;ﬁa%wﬁaﬁr@(wﬁﬁﬂé‘f

-3/1316]

10.

11.

12.

Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@ @
) 1 III II I
2) III II Im 1
3) II 111 I II
4) 1I I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual



13.

14.

Frefafed & & a9-@0 Temd &
AR 0 i Hl AR & ?

(a) fofad

(b) A%

(c) RIS

(d) s

7ET HT W T I
%< -

1) (a), (b) W (d)

2) (a), (b) W (c)

3) (a),(c) T (d)

4) (a), (b), (c) W (d)

Freifafad & @ @9-a1 $99 &
qheel & d@ed ¥ 98 78 © ¢

1) Todeiss & 99 T J0e9 Th
foroIresT aeror Bl

2) 9ifssd OO Jafede STl
qfe® Ml THR & 8 qhd ol

3) oMfdferd eafed frearest wdteror @i
H THA|

4) FgmiEh TRl H OgRE B A
el wd oTpicRl BT B &
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13.

14.

[7/A]

Which of the

examinations are

following
the basis of

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test

individual or group.

can be either

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.



[8/A]

15. frfefaa & & d9- JH e & 15. Which of the following pair is not

ProTmar g@ Rrsid & o g@ ® correct regarding elements of
dd T 3% AOM P dey § TR intelligence and their dimension,
Ter %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g&&' % @ HEH Intelligence
1) IHE IS 1) Unit Product
2) G fspar 2) Cognition Operation
3) Hediw fspar 3) Evaluation Operation
4) gy ey 4) Relations Content

16. g & @ @9-d@ 9@ df=a 16. Which one of the following is not a

AR gRehoT Hl TqE fRIver 78 key feature of child centred

g7 learning approach ?

1) GefE dEe & e 1) Meaningful learning

opportunities

2) UHd [T qr 2) Single learning pathway

3) €ad ‘1@1’4’7'[ 3) Continuous assessment

4) ™ fareror |fdT| 4) Accessible learning settings
17. g0 % SFJAR, JeOTes dE @ 17. According to Bandura, which is not

HV-G SraHeeT ke 78 & ? the interrelated processes of

observational learning ?

1) SA9YMEIHS BIEDIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) IXOT® yfshamd 3) Motivational Processes

4) LDIEEI e EIY 4) Conjunctional Processes

[ Level-3/1316 ]



19.

20.

21.

4) T HIE (3T5H) qeH

e B B £ o R R G
PINT B AFE Hl TATIT B & ¢
1) eagar 2) feenter
3) fewifrmr  4) fedifmfemn

e AT | 1 A e M e et e
UrEl ofaeenet & @@ W B T
FifoTT

1) gEEen — i ggEEeEr -
AR - EEeEr -
SEEIT-2CI)|

2) TEEE — FEEEe — [T
TYNERT  —  SERETEel —
RCICEl]

3) gEEE — TEERT — AT
TONEE - S Ee -
SEEIEI L]

4) EFFEEl - EEEr -
qEEe — SEAEgEE — T
PEIEICII]

[ Level-3/1316]

18.

19.

20.

21.

[9/A]

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.



[10/A]

22.

23.

24.

YaaE & e omEHE oM
Rfgic & ATJHR w@lias 6 gt
SEITH & TERJNHT H HI-A1 FHIiTh
9 G H Haifds guad T ?

1) HHFITH

2) facifaa

3) T&d

4) ULH

e & s O ’Meid @
e omen H oomd  Riew qwn
AT I &HaT g 8 St
g7

1) G-

2) Yd-GHAS

3) Yai-HfshaT

4) NenRe-giharEs

yiqemanen foenf & fow freefoRea

T q g-a ARE e 787 B S
e ?

1) @ Uode dF & G

2) @I
3) YRS [Rreror
4) Gade HEHH

[ Level-3/1316 ]

22.

23.

24.

According to Pavlov's Classical
Conditioning theory of learning,
which
presentation  of

temporal sequence

natural and
conditioned stimuli will most affect
learning ?

1) Simultaneous
2) Delay
3) Trace

4) Backward

In which stage of Piaget's Cognitive

Development theory does the

ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program



25.

26.

21.

frefofeg & ¥ 9-a1 gu@sh fwem
H TF sid 78 8§ 7

1) TRl & RS

2) T @ f=ia

3) fafaerr &1 S F9M @l Rsid
4) e 3 AR @ fEia
fr=ifefeg & @ -1 dO& Jgfas

Rreraiell & ogaR Reor & gweq
7&f o ?

1) foeniEl &1 s=1 998

2) JaRTH R

3) UIgIshH H R

4) ToEiEl @ emaneT & FH

fafare  oTagmatel  d = @
AEEN B T & H Jehm
eI & g 8 S

1) &1 9599 &% [9aed | 9997 &+

2) gau g gREmd wem B

3) I AT SMETHar B TEAI
T eI § Sl TG

4) I HAAWEF HeEdl YAl TEH
BT
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25.

26.

21.

[11/A]

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.



[12/A]

28. fr=fafad & 9 d9-91 &9 e &

29.

30.

g § o 78 B ?

1) [9FE IREES T ST Hw
3EE B

2) URR & & g a1 a6l
foeprg atfres iR 2 B

3) fomm foX @ W i Rsm & om
T Bl

4) fopE =g o ¥ B # R
ol Bl

oL e & Bemrd Reia has
T ufquifed fohar ar ?

1) Piftey, W wd Rewnas
2) WX T forent

3) FHBAT TG &R

4) odel, SfeE Td g

“HMIHTT H o1 & g gee
¥ gRYFadr ST | & I8
g fhes T d T R ?

1) S SE
2) e
3) R
4) TS

28.

29.

30.

Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3/1316 ]
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[13/A]

31.

32.

33.

34.

fqQwer & deg & dHi-ar @é gatad

7ET T 7

1) ARG - |5 9 i &L

2) Ui - fAueT @ IawEe

3) UREH - JUrErE Qe

4) Y - G § WHq HEaEs
Ell

forg foecy # =-g &1 TE 7Y AT
78 5 ?

1) SEf - @, 9 - e

2) WY - g, 79 - gEA

3) W - T[«ll, AT - Sl
4) THI - T, g - |

HI-91 H @ 7T © 7
1) g - d 9=
2) HE® - TGHd 9=
3) Ra=dl - IV =
4) VA - fRe™ o=

frefafeg & @ 59 faed &1 9=
wfy-faees # e @ T ® 7

1) FUEE = FI + o6

2) I = aar + ST

3) AMHIN = T + 0

4) TgH = Y + A

[ Level-3/1316]

35.

36.

31.

38.

fp faheq & TR W Sl
THE B ISET 78 & °

1) S, faEe
2) dHsard, RS
3) YA, HarE
4) UERR, qgqufa

frg faeq &1 = ‘o ITEd A
T 7&f = ?

1) AN

2) it

3) I

4) IFER

e # 9 e 9w @ 9= foeee
gt | fafa € °
1) edtad, siferEr
2) ST, FHHET
3) Regd@R, ST

4) R, TNl

EaE 9|l ® g9g ¥ -
fereq ofgfaT @ °

1) I=A1 - fEART, gy, wede
2) &S - G, guH, HaT

3) T=A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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40.

41.

42.
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43.

44.

45.
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g7
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9T 2

2) ‘B JA FY  ACREIIEE
TaqM 9=
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4) 9 g4 @ g & 9 A
[ B B aEg B A A R
39 FerEaras 9dm ®ed 2

e faey 4 Rodaeis 3= ommT
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R
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Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1316]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

| a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.



[16/A]

53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,AC,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1316 ]



AW 11/ PART = Il
AT o799 / GENERAL STUDIES
RS QdT, diihe STl el 9T S U9 RGBT / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

[17/A]

fraer : fFefafad gl & SR 39 & e @9d S faeed g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

& A U9 X & 90 IR Sa7 f&am
# R oAl Je F@ @l ©, ol
SHS 19 B H R B

1) SI-gd
2) UltEH

3) T
4) TTR-UIRTH

Th T 20 I g R AR @ e
¥ uF gue # qur I g0 H@ AN @
oot s & 2 9@ & @@ & F,
@ A I H G @ A ©

1) 10 fHt/=ver
2) 12 f®Hl/g0e
3) 13 fHl/gver
4) 15 fHl/guer

[ Level-3/1316]

61.

62.

63.

If A stands on his head with his
North,
direction will his left hand point ?

face towards in which

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and

English both ?
1) 0 2) 3

3) 4 4) 5

P.T.O.



[18/A]

64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
99 7d W@ B & &M IW 4
oF WM W & T C & N 37 Nl
H O AT HE, A C & @W A H
He-AT B ?

1) odf
2) 104
3) 114
4) 124

U %= e 9 § 'CEG' &l ‘TSR’
dem 'FHJ' & 'QPO' for@m <mam &, &
TH @AM AW H OIKM' & femar
SR

1) NOP

2) NOL

3) NMK

4) NML

e}l EAML ¥ fha @efe 9 91
ST Hhd § 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgye d aiie Hv

EIoEET 7:2 @&, a@ 3
TS A TSl A B

1) 7 2) 8

3) 9 4) 11

[ Level-3/1316 ]

64.

65.

66.

61.

In a class of 35 students, A is
placed Tth the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11



68.

69.

10.

11.

frefafed @& S & SFET U
ST i
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 9T H,
T B T 1 d% P I 6 g F
W O HhaT 21 IR A A B T
Y 2 99¢ % o e & 99erq Ad
A P T¥ T &A1 C, T 9@ B &N
ST ¥ P WX AT ?

1) 2 g2 ¥

2) 2% g §

3) 3 guwe d

4) 3% g {

gfe fordr ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &, a
I Yot H 47+ 33 H AN B ¢

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R
oqr ?

1) ar

2) e

3) R

4) TR

[ Level-3/1316]

68.

69.

10.

11.

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 %« 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.



[20/A]

12.

13.

14,

15.

off 1 SFET T B
Z1A, X2D, V6G, T21], ?
1) R8TM
2) R8IN
3) R88P
4) R88M

x-3&, y-3& T 4x+3y =12 &N
Fftfd Brgst & awrrEa & B @

1) 2 3FE
2) 2.5 IHE
3) 3 IHE
4) 4 THE

g8 999 Bl & Fa s, e
15463 ¥ Siig< WX I IRT%S 107 §
qoiaan fasieta &1 S ©

1) 52
2) 55
3) 71
4) 16

[ Level-3/1316 ]

12.

13.

14.

15.

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM

2) R8IN

3) R88P

4) R88M

In English alphabet, the number of

letters skipped in between

adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?

1) DJOTV
2) DJOSV
3) DJOSW
4) DIOSU

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit

2) 2.5 unit

3) 3 unit

4) 4 unit

Find the least number which must
be added to 15463 so that the
resulting number is
divisible by 107 :

1) 52

2) 55

3) 71

4) 176

exactly



16.

11.

18.

19.

UMl H g H fE g H PRt
ST ST fob O [ bl e e W
SO T 20% N AH B 7
1) 1:5 2) 2:8
3) 3:5 4) 4:8

us e Ui &1 4% affe W ®
2 99 % QT ThafE &N Ud AR
& & S ©

1) 52:51
2) 52:50
3) 51:50
4) B53:50

b

U # Tl T T MR AN
R 4 e ggEg A X ST TS &
50% e fan A af & o= H Fa
21,600 YA H AN A &, ol W
T Y B R B

1) 2,400 &9

2) 3,600 &7

3) 4,000 &

4) 4,200

q¢ A, B o C H

DN
W |
oo

Th A 20% Y 9 Th a&]
SO B, A W I & 12 TW@
it | o=, df IH 10% B AT
Bl 3 a%g H HY A ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3/1316]

16.

11.

18.

19.

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

23’5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.



[22/A]

80.

8l1.

82.

83.

Ve )

a*+a” 1-a
+
l-a 1++/a

a2

E

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Q

Qfrerfees g G oTaRed @

1) o R o
2) FHoee o |

3) IR P d
4) YT ot J

fPe BRAE 9 ST, 2023 H ARC
TS %l HaE {7

1) §9 faeg
2) ey e
3) 9y RIS
4) Tifed

A & ekfed Taue §Od
P oE W TH SR & ?

1) o gHdiR

2) 4 JIwR g S

3) 4t Bl = W

4) o gLoid e guarierm

[ Level-3/1316 ]

80.

8l.

82.

83.

Ve 1 —Va

L1-a
1++va

1 _
a’*+a

is equal to :

—
|

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Qv

Historical village Sugh is located
in:

1) Ambala district
2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia



[23/A]

84. TRIFMIN WU & T W< &L & 84. The evidence of Stupa of Mauryan
period is found at :
1) U H 2) Pyt § 1) Topara 2) Bhiwani
3) g H 4) ead H 3) Thanesar 4) Rohtak
85. TiaT &l @HRIE fhH "W H A 85. Geeta Jayanti Samaroh is
S 8 ? celebrated in the month of :
1) s § 2) AELY ¥ 1) Kartik 2) Margshirsh
3) oM@ T §  4) @Y H 3) Ashvin 4) Shravana
86. BRI JaT H HAYBR AEN & T&A 86. Who is the Chief Commissioner of
SIRER] B E 7 Haryana  Right to  Service
Commission ?
1) & o dio Tl 1) ShriT.C. Gupta
2) ff foog agw 2) Shri Vijay Vardhan
3) @ LEE Yoot 3) Shri Rajesh Khullar
4) A faE T 4) Shri Vikas Gupta
81. UY Mamem & TR § FefaRad 81. Read the following statements
HIE B dfeU : about Sadhu Nischal Das :
() 9E a[g & R (i) He was a Dadu's disciple.
(i) 31 T g&H FER A (ii) He compiled a book 'Vichar
Gehlerd St Hag 3 w9 7 B Sagar' which is in form of
dialogue.
HE??Q@’ & T FIMT - Choose the correct code :
1) ®ad T (i) TR 2l 1) Only statement (i) is correct.
2) Fad HIT (ii) Tt 2l 2) Only statement (ii) is correct.
3) T A P (1) M A & FAT (i) 3) Neither statement (i) nor
el & statement (ii) are correct.
4) A I (@) MR (i) TE 2| 4) Both the statements (i) and (ii)
are correct.

[ Level-3/1316] P.T.O.



[24/A]

88. =RAMT ¥ RGN WoNE dx FEl Red 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) TR 3) TJhajjar
4) THa= 4) Bhiwani
89. BRIM T Hedhrl ?iﬁ Td I 89. When the Haryana State Co-
foere drE o # ®AT w9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥ad, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) S¥Ed, 1996 4) January, 1996

90. =Emm # aRdl™ SCkll MEnfen 90. Where in Haryana, the Indian

HEI el feud ® 7 Institute of Information Technology
is located ?

1) dea 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3/1316 ]



AT - IV / PART = IV
M {95 / CHEMISTRY
fraer : fefafad gl & SR 39 & e @98 S faee g

Direction : Answer the following questions by selecting the most appropriate option.

[25/A]

91.

92.

93.

Kr @ orfg oy 10 a¥ ¥ L kr
% 99% H fqafed & & feam wHF
ST ?

1) 33295
2) 66.47T4
3) 99.6 Y
4) 132.89Y

fr=fafag & @ crftepam Tl wEfE
B

1) sf~a e

2) 4-AIRY AT SN

3) 4-Zel Sfwid FHIa I

4) 4-ORQ FETIT

T A & 4.07% BESIOH, 24.27%
HET X 71.65% a8l SEH
qY 599 99 g ¥, d9 3HH oTfvasw
e

1) CH,CI

2) C,H,CL
3) C,HCI,

4) C,H,CI,

[ Level-3/1316]

91.

92.

93.

The half life period of , Kr is
10 years. How long will it take for
99% of the :2 Kr to disintegrate ?

1) 33.2 years
2) 66.4 years
3) 99.6 years
4) 132.8 years

The most stable carbanion among

the following is :

1) Benzyl carbanion

2) 4-methoxy benzyl carbanion
3) 4-nitro benzyl carbanion

4) 4-methyl carbanion

4.07%

carbon and

A compound contains

hydrogen, 24.27%

71.65% chlorine. Its molar mass is

99 g, then its molecular formula is :
1) CH,CI

2) C,H/CI,

3) C,HCI,

4) C,H,CI,

P.T.O.



[26/A]

94.

95.

96.

frell arfwishan & febamepes @1 RPN
TS bl G LT U AR &ty
M 8 Sl &, AR & Hite T
Bl ?

1) 3 2) 2

3) 1 4 0

Yo d9gd  o9Eed  NaCl, HCl iR
NaAc # duid Ao} =hard Ha:
126.4, 425.9 3T 91.0 S cm’ mol " ¥,
a9 HAc &l kjn,ScmZmol_l 73R

1) 643.3
3) 390.5

2) 461.3
4) 208.5

RS b ° SR gedl
AR & W H  feRed

et B Fafked HIfvT -
Helferl- M- TS~
EEElE| ST ST

I II III
1) I>I>1I
2) M>I>1
3) I>MI>1

4) 1I>1>1I

[ Level-3/1316 ]

94.

95.

96.

The t, of a reaction is doubled as
the initial concentration of the
reactant is doubled, what is the

order of the reaction ?
1) 3 2) 2

3) 1 4) 0

For the strong electrolytes NaCl,

HClI and NaAc the molar
conductivities at infinite dilution
are 126.4, 425.9 and 91.0 S cm’
mol ™ respectively. A, for HAc in
S cm” mol ' is :
1) 643.3

3) 390.5

2) 461.3
4) 208.5

Arrange the following compounds

in order of their decreasing

reactivity with an electrophile :

methoxy-  chloro- nitro-

benzene benzene benzene

I II III
1) I>II>1I
2) M>I>1
3) I>MI>1

4) I>I1>1I



917.

98.

99.

TER-dMM  offafser A
AT © -

®
1) CH,

frfed

2) :CCl,
@
3) CI

©
4) OH

Frfoed & & @e-a1 e 3 787
g 7

1) XeOF,

2) NeF,

3) XeF,
4) XeF,

Frefafag & & d-@  oifufea
ST SR ¥ 7
a. 2Cu’ —Cu” +Cu

b. 3MnOY +4H — 2MnO; +
MnO, + 2H,0

C. ZKMnO4 - I{ZMnO4 + MnOZ +

O,

d. 10"+ 2MnO; + 16H" — 2Mn""

+ 8H,0 + 5I,
1) cd 2) a,c
3) b,c 4) ab

[ Level-3/1316]

917.

98.

99.

[27/A]

The electophile involved in

Reimer-Tiemann reaction is :
(©)
1) CH,

2) :CCl,
@
3) CI

©
4) OH

Which of the following does not
exist ?

1) XeOF,

2) NeF,

3) XeF,

4) XeF,

Which of the following reactions

are disproportionation reactions ?
+ 2+
a. 2Cu »Cu +Cu

b. 3MnOY +4H" — 2MnO; +
MnO, + 2H,0

C. ZKMnO4 - I{zMnO4 + MnOZ +

O,

d. 100"+ 2MnO; + 16H" — 2Mn"*

+ 8H,0 + 5I,
1) cd 2) a,c
3) b,c 4) a,b

P.T.0.

Download from www.MsEducationTv.com



[28/A]

100.

101.

102.

fFricied SO % o d99 SugE

ARUE H-41 2 ?
i

CH,-CH=CH-CH,~C-CH, —

O

I

CH,~CH=CH-CH,~C-ONa

1) o9 SAfepHE
2) SwiEd TIFAES

3) I, X NaOH farcwa
4) Sn 3R NaOH faetas

TR -

Cl,(g) — 2Cl(g) & T AH TG AS
% fogd @
1) I FOMHD
2) I g
3) AH FOTE®H X AS &TH
4) AH €% QX AS FOTHE

Th GHUY dd Xl +3 Siadihor
e | Saagivg e [Ar] 3d° B
IHHT A FHHIH 1 S

1) 20
2) 23
3) 26
4) 27

[ Level-3/1316 ]

100.

101.

102.

Which is the most suitable reagent

for following conversion ?
0]

I
CH,~-CH=CH-CH,~C-CH, —
o
CHS—CH=CH—CH2—é—ONa
1) Tollen's reagent
2) Benzoyl peroxide
3) I, and NaOH solution

4) Sn and NaOH solution

For the reaction :

Cl,(9) — 2CI(g) the signs of AH
and AS are :

1) Both negative

2) Both positive

3) AH negative and AS positive
4) AH positive and AS negative

Electronic configuration of a

transition element X in +3 oxidation
state is [Ar] 3d°. What is its atomic

number ?
1) 20
2) 23
3) 26
4) 27



103.

104.

e oI H TEHRS o % qHE

] P @ o, a9

1) UNIE® T & AT, TG A9 9
& T &R

2) UINIgh =T & AT, HFA A &
3T BT

3) UYHlgh =T & AT, H HM HH
Bl

4) G AT, % ER T TRBieH HIX
EegHI YA | &1 e BRI

IR &l 391 FaHi & gd A
T IRy FHIRT -

[A] n-=ge

[B] 2-A =g
[C] n-U=ed

[D] 2, 2-SEAR™ U=
1) A>B>C>D
2) B>C>D>A
3) D>C>B>A

4 C>B>D>A

[ Level-3/1316]

103.

104.

[29/A]

If all the molecules of ethanoic acid

associate in benzene, then :

1) AT, of ethanoic acid will be

double of normal value.

2) AT, of ethanoic acid will be

half of normal value.

3) AT, of ethanoic acid will have

normal value.

4) The molar mass calculated on
the basis of this AT, will be half

of expected value.

Arrange the following in

decreasing order of their boiling

points :

[A] n-butane

[B] 2-methyl butane

[C] n-pentane

[D] 2, 2-Dimethyl propane
1) A>B>C>D

2) B>C>D>A

3) D>C>B>A

4 C>B>D>A

P.T.O.



[30/A]

105. fr=ifaRad § &R amed &1 @8 %9 © - 105. The correct order of base strength

among the following is :

1) NH,>PH,> AsH, > SbH, > BiH, 1) NH,>PH,> AsH, > SbH, > BiH,
2) BiH,> SbH,> AsH, > PH,> NH, 2) BiH,> SbH,> AsH, > PH,> NH,
3) NH,> SbH,> BiH,> AsH,> PH, 3) NH,>SbH,> BiH,> AsH,> PH,
4) BiH,>NH,> PH,> SbH, > AsH, 4) BiH,>NH,> PH, > SbH, > AsH,

106. fr=fofad # @ orfwfhr X & fou 106. Which of the following expressions

HE-AT &b A & TI"i£ R & is correct for the rate of reaction
fom @&t ® ? given below ?

BBr (aq) + BrO, (aq) + 6H" (ag) — 5Br (aq) + BrO, (aq) + 6H" (ag) —
3Br, (aq) + 3H,0(!) 3Br, (aq) + 3H,0(1)

A[Br~] _SA[H"] ) A[Br~] SA[H*]
At At At At

1)

A[Br] =QA[H‘“] A[Br~] _ 6 A[H™]

2) 2)
At B At At B At
3) A[Br-] _5 A[H*] 3 A[Br-] _5 A[H*]
At 6 At At 6 At
8 A[Br™] _6A[H*] " A[Br~] _6A[H*]
At At At At

[ Level-3/1316]
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101.

108.

109.

HIFID IEHAYNT AR & g

8@+ 2 B, (@) - AB(©)

AH=-20k]
afc A,, B, AR AB, & #H Tl
SFHST: 60, 40 X 50 JK ' mol” ¥,
SYFT ARfRar fhe a9 W A |
it ?

1) 500K 2) 400K

3) 250K 4) 200K

T A H,0 & 0, H Sifeiigd &
% [T srasEs FEM @ He B

1) 1.93x10°C

2) 96500 C

3) 96:00C

4) 19.3x10°C

59 4w gehe @ fagd uEed Pt
TFele &N B ™ q9 O W 1.6
g SNFEISE JH g, dde W MafQ
Tl &l ABT B

1) 216g 2) 108g

3) 1.6g 4) 08g

[ Level-3/1316]

1017.

108.

109.

[31/A]

For hypothetical reversible reaction

SA@)+ 2B, ©) > AB(©)

AH =-20 k]
If standard entropies of 4,, B, and
AB, are 60, 40 and 50 JK~ mol™
respectively, then above reaction

will be at equilibrium at

temperature :
1) 500K 2) 400K
3) 250K 4) 200K

Number of coulombs required to

oxidise one mole of HZO to O2 are :
1) 1.93x10°C

2) 96500 C

3) 96:00 c

4) 19.3x10°C

When the electrolysis of silver
sulphate was carried out by Pt
electrodes, 1.6 g oxygen was
liberated at the anode, the amount of

silver deposited at cathode will be :

1) 216g 2) 108g

3) 16g 4) 08g

P.T.O.



[32/A]

110.

111.

112.

Frefofed & @ @e-a1 998 i &

for-Fedl @9 787 © ?
1) -SOH

2) —COR

3) —NHCOCH,

4) —COOR

[Ce(NO,),]*” & ¥&% NO, TN €1y
9 IqEeEdcE B &M AW Al
S T e ©

1) 3
2) 2
3) 1

4) 0

N, & SVH Ferh H HonsAl w
Fr=ifafa & & Si-a1 %9 @&l o ¢

1) (nzpy> < (GZPX> < (n*sz) = (n*zpy)
2) <n2py) > <62pz) > (n*sz) = (n*zpy)
3) (nzpy> < (GZPZ> > (n*sz) = (n*zpy>

4) <n2py) > <62pz) < (n*sz) = (n*zpy)

[ Level-3/1316 ]

110.

111.

112.

Which of the following groups is not a

meta-directing group in benzene ?

1) -SO,H
2) -COR
3) -NHCOCH,
4) -COOR

In the complex [Ce(NOS)S]z_ the
number of oxygen atoms used by
each NOS_ to coordinate the metal

are :
1) 3
2) 2
3) 1

4) 0

Which of the following order of
energies of molecular orbital of N,

is correct ?

1) (WZpy) < (csz) < (W*pr) = (”*ZPY)
2 (1) > (035,) > (W3r,) = (55
3) (mep,) < (0zp,) > (25, ) = (w2, )

4) (nzpy> > (GZPZ> < (n*sz) = (n*zp})



[33/A]

113. FHMHE & § FHEW & qaies 113. Thermodynamically the most stable
W WY T form of carbon is :
1) B 1) Diamond
2) JHEC 2) Graphite
3) Q\gﬂ'@:\q 3) Fullerenes
4) I 4) Coal
2+ + 2+ +
114. cH=cH+Ho0 H9 /H | 114. cH=CcH+Ho 9 /H |
333K 333K
SUF SR 1 SR § The product of above reaction is :
1) CH,CH,OH 1) CH,CH,OH
2) HCHO 2) HCHO
3) CH3—C|Z|'—CH3 3) CH?,—?"—CH3
(0} (0}
4) CH,-CHO 4) CH,-CHO
115. 4p H&H 3 fore Brew A &t g R 115. The number of radial node for 4p
orbital is :
1) 1 2) 2 1) 1 2) 2
3) 3 4) 4 3) 3 4) 4
116. F=fafad & wem =+ QW o g& 116. The correct order of first ionization
BT enthalpy among the following is :
1) Mg>AI>Si>P>S 1) Mg>AI>Si>P>S
2) AI<Mg<Si<S<P 2) AlI<Mg<Si<S<P
3) Mg<AI<Si<P<S§ 3) Mg<AI<Si<P<S
4) AlI<Mg<Si<P<S§ 4) AI<Mg<Si<P<S

[ Level-3/1316] P.T.O.



[34/A]

1117.

118.

119.

Frefofed & & $9-a1 d@ Qfeas
Ioft § e 7@ ?

1) U
2) Np
3) Tm

4) Fm

IRF & W A ©
1) SEEH

2) SHIEH

3) &4

4) ==

“Gad A TAFR Uh HED H @ Thd
Bl 3 TR B TERY fqudd BN
MeT|” I8 HIF FHRad § 9 fEe
g7

1) Sipars |

2) TSl STYaeH ST

3) &S N AfehaH ol H I

4) (n+1) |

[ Level-3/1316 ]

111.

118.

119.

Which of the following elements

does not belong to actinoid series ?

1) U

2) Np

3) Tm

4) Fm

An aqueous solution of Borax is :
1) Neutral

2) Amphoteric

3) Alkaline

4) Acidic

"Only two electrons may exist in the
same orbital and these electrons
must have opposite spin" is the

statement of which of the following ?
1) Aufbau Principle
2) Pauli Exclusion Principle

3) Hund's rule of maximum

multiplicity

4) (n+1)rule



120.

121.

122.

Frefoiad & | fH S oo @
FaUih Ioaaq Bl =eq ?

1) 1.0 M NaOH
2) 1.0 M Na,SO,
3) 1.0 M NH,NO,
4) 1.0MKNO,

™ & i Rrer | @& 8 wieie
% AN H fEAH Guee Ui Hewvs
i e oA H HE 4 SN §

1) Z=2n"6"@nkT/n)*
2) Z=2noc (8nkT/W)

3) Z=2no (8nkT/w)”"
4) Z=2n"6" (8nkT/)
SEIED

ArN,CI~
CuCl & M ® :

1) Jreurr arffha

Cu/HCI ArCl + N, +

[ Level-3/1316]

120.

121.

122.

[35/A]

Which of the following aqueous
solutions should have the highest
boiling point ?

1) 1.0 M NaOH

2) 1.0M Na,SO,

3) L.OMNH,NO,

4) 1.0MKNO,

From the Kinetic theory of gases

the number of bimolecular

collisions per second per unit
volume among molecules of one

species is given by :

1) Z=2n"6"(8nkT/n)*
2) Z=2noc (8nkT/W)

3) Z=2no (8nkT/w)”"
4) Z=2n"6" (8nkT/p)

The reaction ArN, CI~ _Cu/HA ,

ArCl + N, + CuCl isnamed as:

1) Sandmeyer reaction
2) Gattermann reaction
3) Claisen reaction

4) Carbylamine reaction

P.T.O.



[36/A]

123.

124.

125.

g SN & d° fawa &1 3= ST

CLSE B L S B B S B
EIRIT SoTt B AM A | 8

1) 0.4 2) 0.6

3) 0.8 4 1.2

NO, &g ¥ TEghM YT W
G B S g oY TR FE #
HeE Fh: ©

) 2,2

2) 3,1

3) 1,3

4) 4,0

TS & ST B dRId [y ¥ 0.5
g FEME AREE 0.376 g AgBr 3T Bl
qfe § i @1 gfaed F®@m e ?

(AgBr @1 oTfoqs ZeFHM 188 g mol
feam o B)

1) 8% 2) 16%

3) 32% 4) 64%

[ Level-3/1316 ]

123.

124.

125.

field

. . 6
energies in terms of A, for d

The crystal stabilisation

configuration of metal ions in high
spin octahedral complex is:
1) 0.4 2) 0.6

3) 0.8 4 1.2
In NO, ion the number of bond

pairs and lone pairs of electrons on

nitrogen atom are respectively :
1) 2,2
2) 3,1
3) 1,3

4) 4,0

In Carius method of estimation of
halogen 0.5 g of an organic
compound gave 0.376 g of AgBr.
What is the percentage of bromine

in the compound ?

(Given molar mass of AgBr = 188 g

mol_l)
1) 8% 2) 16%
3) 32% 4) 64%



126.

121.

128.

Fe* |[Fe @R Sn”"|Sn el &l
UM% U= fqua U —0.44 V 3R
—0.14V 2

Fe®" + Sn — Fe + Sn”" qa afutean 3
T 996 emf B :

1) 0.30V
2) —-0.30V
3) 0.58V
4) -0.58V

oM B nUUT RRES & A
AICI, % JuRgf & B awil S
q < I BT

1) TN S
2) SR S
3) n-iE swie

4) TR S

Frfafad & & @F-a1 Wakes A
7o e ?

1) WA

2) WA

3) Ui

4) gEAGH

[ Level-3/1316]

126.

121.

128.

[37/A]

The standard reduction potential for
Fe2+|Fe and Snz+|.5’n electrodes are
—0.44 V and -0.14 V respectively for

the cell reaction.

I-"e2+ + Sn — Fe + SnZ+ the standard

emfis:

1) 0.30V
2) -0.30V
3) 0.58V
4) -0.58V

The product obtained as a result of
reaction of benzene with n-propyl

chloride in presence of AICI, :
1) propenyl benzene

2) iso-propyl benzene

3) n-propyl benzene

4) ethyl benzene

Which of the following is not an
aromatic compound ?

1) Cyclopropene

2) Furan

3) Aniline

4) Thiophene

P.T.O.



[38/A]

129.

130.

131.

[Pt(NH,),CI(NO,)] & IUPAC M & :

1) Wiy sEUHN &) TEeEe
2) TN TEEA-N-UHH @feTq (1)

3) eTEHH FNRE TEEA-N-
wfes™ (1)

4) SEUAN FARS TEEA-N-
wfeste (1)

S H Fauie 353 K Bl 1.8 g
AT @ @ 90 g Swie H e
W @0 & 9% T6hY 354 K =
ST Bl oo @ AR ZeEEH @ enT
it I & K, & A9 2.5 K kg mol”’
g7

1) 45 gmol”

2) 50 g mol”

3) 55gmol”

4) 60 gmol™

Pd %1 91 SR O &

1) 4d°5s"
2) 4d°35s'
3) 4d"ss

4) 44 ss°

[ Level-3/1316 ]

129.

130.

131.

IUPAC name of [P{(NH,),CI(NO,)]

is:

1) Platinum diammine chloro-

nitrite

2) Chloronitrito-N-ammine
platinum (II)

3) Diammine chlorido nitrito-N-
platinum (II)

4) Diammine chlorido nitrito-N-

platinate (II)

The boiling point of benzene is 353
K when 1.8 g of a nonvolatile solute
was dissolved in 90 g of benzene,
the boiling point is raised to 354 K.
What is the molar mass of solute if
K, for benzene is 2.5 K kg mol ™ ?

1) 45gmol™
2) 50 g mol”
3) 55gmol”
4) 60g mol ™

The outer electronic configuration of
Pdis:

1) 4d°5s°

2) 4d°35s'

3) 4d'ss”

4) 44 ss°



132.

133.

Pa-I § Ru m G Ll @
Pia-II & U 1T guriad eHEad @
qY AR &Y A R TR @l
SR wA B FE I A A
FHITTT :

-1 Hier-11
(s wdefier) (rreren)
A.[Co(NH,),CL]" 1. TeHITaTeh
()
B. Cis[Co(en),Cl,]" 2. SE
C. [Co(NH,)4SO,]Br 3. SUHEHANH

D. [Co(NH,),][Cr(CN),] 4. ifHcid

&< -

1) A-(1), B-(2), C-(4), D(3)
2) A-(4),B-(3),C-(2), D(1)
3) A-(4),B-(1),C-(2), D(3)
4) A-(1),B-(2),C-(3),D(4)

CH,CH,0OH ® CH,CHO # uRafkid
R S T B

1) ISH TEZOEA &

2) LiAlH,
3) fREiTm wRshEe 3/

4) KMnO, 31

[ Level-3/1316]

132.

133.

[39/A]

Match the complex species in
Column-I with possible isomerism
given in Column-II and select the
correct answer using the codes

given below :

Column-I Column-II
(Complex Species) (Isomerism)
A. [Co(NH,) 4Clz]+ 1. Optical

B. Cis[Co(en),Cl,]" 2. Ionisation

C. [Co(NH,);SO,]Br 3. Coordination

D. [Co(NH,).][Cr(CN),] 4. Geometric

Codes :

1) A-(1),B-(2), C-(4), D(3)
2) A-(4),B-(3),C-(2),D(1)
3) A-(4),B-(1), C-(2), D(3)
4) A-(1),B-(2), C-(3),D(4)

CH,CH,OH can be converted into
CH,CHO by :

1) Catalytic hydrogenation

2) with LiAIH,

3) with pyridinium
chlorochromate
4) with KMnO,
P.T.O.



[40/A]

134.

135.

136.

COR SR 1o M E A G- U B
SIIA

1) 1-AR AT HEUeeEs

2) IifcSeEs
3) BT
4) TIA

10 atm IF W fpEr omest W & q
dey g 0§ ReR 9@ W
latm ¥ q9 % Y9I 214 &, 99 b
TEH FW AFGT 10 T T & S
T UGN § ®E (-w) BN

) O
2) 10litre-atm
3) 8litre-atm

4) 1 litre-atm

Afem  @ew s w Gfeew
EIgEES & Y Agd B W
S 1 @ Fm frelatea § @
fpee BT © 7

1) Fe,[Fe(CN).],

2) [Fe(CN);NOI*

3) [Fe(CN),NOS]"

4) [Fe(SCN)I*

[ Level-3/1316 ]

134.

135.

136.

Cannizaro reaction is not given

by :

1) 1-Methyl cyclohexane
carbaldehyde

2) Benzaldehyde

3) Methanal

4) Ethanal

Two litres of an ideal gas at a

pressure of 10 atm expands

isothermally against a constant

external pressure of 1 atm until its
total volume in 10 litres. The work
done (-w) in the expansion is :

1) O

2) 10 litre-atm

3) 8litre-atm

4) 1 litre-atm

On treating sodium fusion extract

with sodium nitroprusside,
appearance of violet colour is due
to which of the following ?

1) Fe,[Fe(CN)],

2) [Fe(CN);NOI*

3) [Fe(CN),NOS]*

4) [Fe(SCN)]”



131.

138.

A dal A AR B & oal~h vl
9 fear ™1 8, A X B 4 999 a
Zﬁﬁﬁﬁaﬁfaﬂﬁ%ﬁ?{@"ﬂ:

A= lsz, Zsz, 2p6, 352, 3p3

B= lsz, Zsz, Zpe, 352, 3p5

1) AB
2) A,B
3) AB,
4) AB,
feu T Ad & g A fawa Bem
2
Mg|Mg™'||Ag" |Ag
o RT Mg?*
1) Ecell = Ecell e H[L.,.]
2F [Ag™]
o A 2
2) EceH: Ecell 1 [ gz_:,l,
21-" [Mg“]
M 2+
3) EceH: Ece11+ [ J 2]
ZF " Ag*]
R M 2+
4) Ecell = Ecell [ J 2]
21-" [Ag ]

[ Level-3/1316]

131.

138.

[41/A]

The electronic configuration of two
elements A and B are given below,
the molecular formula of compound

formed from A and B will be :
A= lsz, Zsz, 2p6, 352, 3p3
B= lsz, Zsz, 2p6, 352, 3p5

1) AB

2) AB

3) AB,

4) AB,

The cell potential for the given cell
will be :

2
Mg|Mg™'||Ag" |Ag
o RT Mg?*
1) Ecell = Ecell s n[L.,.]
2F [Ag™]
o Agt1?
2) Ecell= Ecell _1 [ gz_:,l,
2F  [Mg®]
M 2+
3) Ecell = Ecell + n [ J 2]
ZF [Ag*]
X M 2+
4) Ecell: Ecell e [ J 2]
ZF [Ag ]
P.T.O.

Download from www.MsEducationTv.com



[42/A]

139.

140.

141.

1-UR-4-T8g1 SS9 &l Br, & WY
ST A1 U.V. TR & SuRfd § o
UG ©

1) 2-5-1-UR-4- T8 gl st

2) 1-(2-5 CRA)-4-TRgI-wsiie

3) 1-(1-5 CRA)-4-TgI-awsiie

4) 3-5MI-1-URA-4-TEgl-awi

Frfoied & @ @H-a1 998 +R 9@
7ef &l & ?

1) —OCOR
2) -NHCOR
3) -CN
4) -NR,

frfeiea & Faei® 1 gal gedl HH
B

1) HF>H,0> NH,
2) H,0>HF>NH,
3) NH,>HF>H,0

4) NH,>H,0>HF

[ Level-3/1316 ]

139.

140.

141.

The product obtained by reaction
of 1-ethyl-4-nitro benzene with Br,
is presence of heat or U.V. lightis:
1) 2-bromo-l-ethyl-4-nitro-

benzene
2) 1-(2-bromo ethyl)-4-nitro-

benzene
3) 1-(1-bromo ethyl)-4-nitro-

benzene
4) 3-bromo-1l-ethyl-4-nitro-

benzene

Which of the following group does

not exert +R effect ?

1) -OCOR
2) -NHCOR
3) -CN
4) -NR,

The correct decreasing order of

boiling points in the following is :
1) HF>H,0>NH,
2) H,O0>HF>NH,
3) NH,>HF>H,0

4) NH,>H,0>HF



142.

143.

Frfeid & & fred dgidt gedt & °

1) Hy(9) — 2H(9)

2) 2NaHCO,(s) — Na,CO,(s) +

CO,(9) + H,0 (9)

3) Uh &9 & 9 ofgen ¥ uRady
BT

4) T fpEqd 3 ® a9 0K €

115 K % o/ Sl 8

IoEE T I SAERAT ST &
FEM W IR [A] O A 2, [A]
% feiiieeor & [B] WT< &ir 21 39
aIffRar # [A] o) [B] #HaT: ¥ ¢

1) oI I=ite X A

2) STHIEH F=IUe A A=THES

3) MRS R A

4) FTEES A SgH T

[ Level-3/1316]

142.

143.

[43/A]

In which of the following entropy

decreases ?

1) H,(9) — 2H(9)

2) 2NaHCO,(s) — Na,CO,(s) +
CO,(9) + H,0 (9)

3) Aliquid crystallizes into a solid

4) Temperature of a crystalline

solid is raised from 0 Kto 115 K

Benzoic acid on reaction with

ammonia gives product [A], [A] on

dehydration gives [B]. In this

reaction [A] and [B] are

respectively :

1) Ammonium benzoate and
aniline

2) Ammonium benzoate and
benzamide

3) Benzamide and aniline

4) Benzamide and benzoic acid

P.T.O.



[44/A]

144. Tr=fofaq fee oo @1 STl 144. Ozonolysis of which of the following

AqFe MU-2-319 SR A a9 alkenes produces propan-2-one
g7 and methanal ?
1) e 1) Propene
2) 2-Af| Jid= 2) 2-Methyl propene
3) 2-AR-1-s4dH 3) 2-Methyl-1-butene
4) 239 4) But-2-ene
145. 500 mL fq@@w # 4g NaOH 3« 145. What is the molarity of a solution
a1 A #1 § ? containing 4g of NaOH in 500 mL of
solution ?
1) 0.1M 1) 0.1M
2) 0.2M 2) 0.2M
3) 0.3M 3) 0.3M
4) 0.4M 4) 0.4M

146. F=fafega # oy fodem @aﬁ E3) 146. The correct order of bond
7el 7 R dissociation enthalpy among the

following is :

1) F,>Cl,>Br,>1, 1) F,>Cl,>Br,>1,
2) Cl,>F,>Br,>1, 2) Cl,>F,>Br,>I,
3) Cl,>Br,>F,>I, 3) Cl,>Br,>F,>I,
4) Cl,>Br,>1,>F, 4) Cl,>Br,>I,>F,

[ Level-3/1316 ]



141.

148.

149.

S g & SRS W A WX 100°C
¢ 1 bar T W T AW S &
IR & AR T e 41 kf
mol’ B, @9 1 A S & % X
gRafia fer SIM @ otiaRe e @
URaas BT

1) 0Kkfmol™
2) 41 kfmol™
3) 3.096 kf mol™

4) 37.904 kJ mol™

frfofeg & @ fF-a1 faoe =aer
T T STESl FEF R 7

1) n-8FA IR n-d°A

2) FHTET IR FAICET

3) i &R AGET

4) FEY SEATHES AR THEH

T d@ fEE T FAE 55 3,
ad RO % fhe <% § gefd § ?

1) s-iih 2) p-xiih

3) d-wiih 4) f=i

[ Level-3/1316]

141.

148.

149.

[45/A]

If water vapour is assumed to be a
perfect gas, molar enthalpy change
for vaporization of 1 mol of water at
1 bar and 100°C is 41 kJ mol ', then
the internal energy change for
conversion of 1 mol of water into

iceis:

1) 0k mol™

2) 41 kfmol™
3) 3.096 kf mol™

4) 37.904 kf mol”

Which of the following solutions is

not nearly ideal in behaviour ?

1) n-hexane and n-heptane

2) bromoethane and chloroethane
3) benzene and toluene

4) carbondisulphide and acetone

An element with atomic number 55
belongs to which block of periodic

table ?
1) s-block 2) p-block

3) d-block 4) fblock

P.T.O.



[46/A]

150. UchiElll KOH & a1 B-fddd &t &
% ged HA § efaiad QUfehd samgel
%l FaRYd HITT

H
MJC%%LC@Br
Hj

[B] CH,~CH,-Br
[C] CH,~CH,~ CH,Br
1) A>B>C

2) C>B>A

3) B>C>A

4 A>C>B

150.

Arrange the following alkyl halides
in decreasing order of the rate of

B-elimination reaction with
alcoholic KOH :
H
[A] CH?’—&‘—CHZ Br
Hy

[B] CH,~CH,-Br
[C] CH,~CH,~ CH,Br
1) A>B>C

2) C>B>A

3) B>C>A

4 A>C>B

[ Level-3/1316]
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6.

usHr B N, I G=h ¥ faiRa @t & & 9 qrEe ™A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y BN A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT E A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

T B FISH-E[W 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk X AT IR S Sk H I q&a of 9d o1 (Fhe wgs) & T (s 21/
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TA% U & fow Ru o oar feed § & ofd faee 3 T OMR ST W% W 399 % 99 & & [0 TR FM a6 @Re W W
Th d I JifFT B B I8 IY To Tef o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 oW T B AT 7 9 Ud 39 W HE I M T ) ot ot i St W # feEiRa e
% oifaftdd o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

Y- T I T B ANEE T H, Fie e 9 oRRefd § [eT-gRae 0 St T & B § @ R &
@3%_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W = ° U T wHiw gt T % ¥ =R’ I ¥ fT€ / The candidates should write the correct Number as

given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle Ad/H F HAY W R UEEM U & SiiRed R SR @ ureg-ar, a1 ST FEST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHAT AT TR ST TR & G B S A7 SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S TX UA% TRt oo Wae S A o] 9 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

F% ordfes @1 wdwe @ AW aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR fhU A ol wlen & e 818 ARk fed vl A
A R WK A W EWRR Te Y q a8 A O % I IO T AE Aern & AR Fe ST | H A qE S
OMR T T% 7 FHiRG @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey e & &6 919 &
& Tl WY R @ g A & & @nd oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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